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Jl2Zl 26,290 24,070 2,220
JlE2&l 26,290 24,070 2,220
201 Let24E] 10,690 9,670 1,020
01 At 22l 10,690 9,670 1,020
Oger==gH| 10,690,000 10,690
202 (44l 11,400 10,200 1,200
01 S LHOIYI 11,400 10,200 1,200
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2N F0IMET| A Dt
M HESHAY (FUMBTAD)
@ Jl2gl ?HA)
SH-HH . B (3H) - HEAY il 2
OBMNSY (A, HMOIU, 93 )
000& 11,400
203 YR =&Y 4,200 4,200 0
04 ENSIHRF=XY| 4,200 4,200 0
OFRNM2IIRF&Y| 4,200,000 4,200
MEES(FUMS IS D) 497,903 442,820 55,083
WEHAH XK= 497,903 442,820 55,083
JESIHAEEZ2 497,903 442,820 55,083
701 JIEIS HE E2 497,903 442,820 55,083
01 JIEtSI HE &= 497,903 442,820 55,083
OczZ20II285g83H &= 497,903,000 497,903
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